[ Efficiency vs vertpos |

—0.05
$.045
2
20.04
(&)

$.035

.................................................

o F
E Y N CHP A
@0'035
[0N0)725) SEEEEEEECEC EEEEEEED CRCRF EERECROR
0.02F -+ [ - e
0.015F-------
0.01--;---
0.005:—*"‘"'
o J.UG: - : !
g f é 3
1= - - - - - - +¥ -
i : S [
- : - :
0.95'2 - ,
10™ 10™ 1
TP vertr (cm
—_ Eg o A gvsve%tne\yg[? rr}rph selngwgeom
T~ —_— P uteni uarefNewg S ar- asel-ne eom
Efficienq —— —h urchi guare ew§_s e g ar- Easei newgeom
— b utChiSquareNewa—3 eE ar-E asel-newgeom

~ 0.1
20.09
o
>0.08
>
2
90.07
o
£0.06
()
0.05]
0.04
0.03
0.02
0.01
.0

Ratio

0.95

T +‘.¢}’(+

:....i....i+.h...i....i....i....
..... E-. ..E.. EJL :
20 <10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~n0.02
>
00.018

%.016'

% 014
?é 012
£ 2 0.01
0.008
0.006
0.004
0.002

104

Ratio

i AR
i 11
10 LO 15 20

Sim. PV z (cm)



	Contents
	Page 1


